[ 3]

Lo st (x - 23) (x - 33) (x- 73) - |(x - 23) (x - 33) (x- 75)

2. R Ex+y+z+u?+v3 <102 B FifEa i

3. Rf) =x?—2x+2, fy=f),x=0x=3 “TH+ HE2 L {Us,

~ =

4, WR(§)EF =@ g 2 foz b A Pdio S PIRE A RF 22 AES BA 2 APAR

5. % - AABC, %BC®D,E® 8.° sBD = 3,DE = 4,EC = 8 £BAD = £DAE = £EAC,
FAABC2 % ##

- 5’ 1 2 G 1) e s s
6. (@*?ﬁiﬁ%’?)P=ﬁ,q=ﬁ,-‘]“»§1ﬁ:u HCE RSN 5
6 12

7. f@) =x—[x], % SRS Fy

8. #H10++51)% + (10 —+/51)3



¥4z]
BERZEY hE R RN, WA A THAB, B AL - %P FPA+ PB} min
(1) Pg& in‘."— (2)PA+PB

FOO S Bz = 5135 8 ks La= i/‘lgﬁﬁ\/‘l;@—L/;,ygf(x) -0
2. =2 {3 ’g(x):x4+4x3+9x2+10x+8

(1) f(x) @ st 55+ 503

F SR, im B =8, im L2 =4, f/(-1) = =2, f(1) =6, f(-1) = -
(D fx) (2)f_1f(x)dx (Bois= B3 7 H2)

loge(x +2) +1loge(5 —x) =logg(a —x)2x1t7 - F 19, a5 Bk, % Lik 2 2 ath
BAcim, B#in, K(mn)

R B M Ao 1T RIS e 2 £

25ABCD® > #AD47 % BC¥ 18— ; <<51EF i@ $2ED o #CD47 ;
BC**M » M TAB= 7 58 2 AD**N - plw :#2,NMCD % % & 484

A B
@ L

b - BEJeR A L F &0 bleE) o T A0 T il
"

I w\vt
o 6‘»

b




